ANSWER, FIND, and SHADE
TWO-STEP FILL IN THE BLANKS

ANSWERS

Fill in the boxes to make each statement true. The two boxes for each problem are the same answer.

1132 4 24 + |32

1. The boxes are the same answer.
2. Find the answer in the key below (32).
3. Shade in the corresponding letter (H).

2. (83| - 76 = 90 - |83
8. 22 - |11 =([11| x 1

4. 32 - |28 =28 + 7

5. -25 + |48 = 71 - |48
6. |15 x 4 = |15| + 45
7. 36 + (31| = 98 - |31
8. (27| =+ 9 =|27| + -24
9 4 + 4 | =4 = %
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BEAUTY IN THE BEAST
+12 =24 - 22 4142 + 3 = 87 - |42
X 2 = 6 + 6 15. 54 - 91 =19 X 5
+ 26 = 96 - |35 16./78| x 3 = |78| + 156
x | 2| = 50 - 2 17.157| + 3 = -38 + |57

Solve each problem, find the answer in the box below, and shade in the corresponding letter in the picture.

A 78 G 14
B 31 H 32
c 12 I 73
D 3 J 6
E 28 K 2
F 55 M 27
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5 T 9 Z 60 FF 7

29 U 58 AA 24 GG 18
57 vV 83 BB 40 HH 42
81 w 21 CC 11 II 63
15 X 95 DD 8 JJ 48
38 Y 4 EE 35 KK 10
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